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REVIEW SKILLS
Use the quadratic formula to solve. Express your solution(s) in exact and decimal form.
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4.4 Inverse Functions N O ‘ ’ Z—— S APPLICATION

1. Graph fand verify that fis one-to-one function. Find f~* and add the graph of f~* and the line y = x to
the graph f. State the domain and range of f'and the domain and range of f 1. “
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2. The graph shows f(x). On the same graph, sketch ' (x). . ,‘P
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a. Explain why the functions are inverses according to your graph. X @ | e
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4. Complete the table of values given that f'and g are inverse functions of each other.
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